

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

ORIGINA Entra Must Be Typed

WELL COMPLETION FORM

WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 3882	API No. 15 - 15-159-22489-0000
Name: SAMUEL GARY JR. & ASSOCIATES, INC.	County: RICE
Address: 1670 BROADWAY, SUITE 3300	SW NE NW Sec. 34 Twp. 18 S.R. 10 East West
City/State/Zip: DENVER, CO 80202-4838	800 feet from NORTH Line of Section
Purchaser: NUV 0 7 2015	feet from WEST Line of Section
Operator Contact Person: TOM FERTAL CONFIDENTIAL	Footages Calculated from Nearest Outside Section Corner:
Phone: (303) 831-4673	(circle one) NE SE NW SW
Contractor: Name: PETROMARK DRILLING, LLC	Lease Name: BRANSON TRUST Well #: 1-34
License: 33323	Field Name: WILDCAT
Wellsite Geologist: JUSTIN CARTER	Producing Formation:
Designate Type of Completion:	Elevation: Ground:1742' Kelly Bushing:1748'
X New Well Re-Entry Workover	Total Depth: 3268' Plug Back Total Depth:
Oil SWD SIOW Temp Abd.	Amount of Surface Pipe Set and Cemented at 339 Feet
Gas ENHR SIGW	Multiple State Cementing Collar Used? ☐ Yes ☒ No
X Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan PANH 8-12-08
Deepening Re-perf Conv. to Enhr./SWD	(Data must be collected from the Reserve Pit)
Plug Back Plug Back Total Depth	Chloride content ppm Fluid volume bbls
Commingled Docket No	Dewatering method used
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No.	Operator Name:
	Lease Name: License No.:
7/20/06 7/31/06 7/31/06	Quarter Sec. Twp. S. R. East West
Spud Date or Date Reached TD Completion Date or Recompletion Date	County: Docket No.:
·	
Kansas 67202, within 120 days of the spud date, recompletion, workove information on side two of this form will be held confidential for a period of 107 for confidentiality in excess of 12 months). One copy of all wireline logs TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells. Su	ith the Kansas Corporation Commission, 130 South Market-Room 2078, Wichita, er or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3- and geologist well report shall be attached with this form. ALL CEMENTING ubmit CP-111 form with all temporarily abandoned wells.
1.	KCC Office Hee ONLY
Thomas UI +1	KCC Office Use ONLY
Signature: Normal of Towar	Letter of Confidentiality Attached
Title: SR. GEOLOGIST Date: 11/7/2006	If Denied, Yes □ Date:
Subscribed and sworn to before me this 7 TH day of NOVEMBERS	Wireline Log Received
20 <u>06</u>	Geologist Report Received
Notary Public: Mintal Hullon & State of the Public Roman Representation of the Public	MACENER
VIII PANGE	UIC Distribution KANSAS CORPORATION COMMISSION
Date Commission Expires:	NOV 0 9 2006
OF CF	CONSERVATION DIVISION
Me Confe	
MA	A 8' 3008

	-									MOV a	ମ <u>୩</u> ନନର	
Operator Name:	SAMUEL GA	RY JR. 8	ASSOC	CIATES, INC.		L	ease Name:	BR	ANSON TRU	UST	(((UU)) Well #: 	1-34
Sec. <u>34</u>	Гwp18	S.	R1	<u> </u>	East ⊠ Wes	t C	county:	RIC	E	Y WILL		a
INSTRUCTIONS: tool open and close and flow rates if gas Attach final geologis	d, flowing an to surface t	ıd shut-ir est, alon	pressur	es, whether s	shut-in press	ure reache	d static level,	hydros	tatic pressur	es, bottom hole tem	nperature, flui	d recovery,
Drill Stem Tests Tak (Attach Addition	-	Σ	Yes		lo	⊠ Log)	Forma	ation (Top), [Depth and Datum		☐ Sample
Sample Sent to Geo	ological Surv	ey [∑	Yes	□ N	1	Name TOPEKA				To _l 24	p 73'	Datum -725'
Cores Taken] Yes	⊠ N	0	DOUGLA	AS			27	33' 62'	-985' -1014'
Electric Log Run (Submit Copy)		Σ	Yes	□N	o	BRN LIM LANSING ARBUCK PRE-CA	G KLE			ABSE	75'	-1102' -1127' -1412'
List All E. Logs Run		ONIC		POROSITY		TD				32	68'	
	****			ASING RECO		☐ New						<u> </u>
Purpose of string	Size Hole	Size	Report Casing	all strings se Weight	t – conductor	r, surface,	intermediate, Type of	produc	# Sacks	Turn		dia:
	Drilled	 `	n O.D.)	Lbs./Ft.	Depth		Cement		Used	Type an	d Percent Ad	aitives
SURFACE	12-1/4"	8-	5/8"	28	339'	CLASS A			175	2% GEL & 3% CC		
		-										
		<u> </u>		45	DITIONAL C							·
			epth	ADI			G/SQUEEZE F	1				
Purpose: Perforate		Тор	Bottor	n	Type o	of Cement		# S	acks Used	Type an	d Percent Add	ditives
Protect Casi	•			-				-				_
Plug Off Zon												
Shots per Foot	PERF S	ORATIO	N RECC	ORD – Bridge Each Interva	Plugs Set/T Il Perforated	ype				e, Shot, Cement, Sq of Material Used)	ueeze Record	d Depth
			-							RSCEI	VED	
									KA	NSAS CORPORATI		SION
	- At-									NOV 0 9	2006	
					*****					CONSERVATION	N DIVISION	
					-					WICHITA	, KS	
TUBING RECORD		Size		Set At	Pad	cker At	Liner Run	М	Yes	□ No		
Date of First, Resum	ed Productio	n, SWD	or Enhr.	Produci	ng Method							
Estimated Production	<u> </u>	Oil	Bbls.	Gas	Mcf		Flowing ater Bb	- <u> </u>	Pumping	Gas Lift		(Explain)
Per 24 Hours		<u> </u>	- DOIS.	Gas	IVICI	VVa	ater Bb	io.	Ga	s-Oil Ratio	l G	iravity
Disposition of Gas						METHOD	OF COMPLET	TION			Pro	oduction Interval
☐ Vented ☐ If vented, submit	Sold ACO-18.)	☐ Us	ed on Le	ease	☐ Open	Hole	☐ Perf.		Dually Comp.	☐ Comming	led	-
.,/	/				☐ Other	(Specify)						

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

************** * INVOICE * * *******

151034

Invoice Number: 103545

Invoice Date: 07/21/06

RECEIVED

Sold Samuel Gary, Jr. & Assoc.
To: % Larson Engineering, Inc.

562 W. Highway #4

Olmitz, KS 67561-8561

AUG 2 2 2005

SAMUEL GARY JR. & ASSOCIATES, INC.

NOV 07 2000

CONFIDENTIAL

Cust I.D....: Gary

P.O. Number..: BransonTR 1-34

P.O. Date...: 07/21/06

Due Date.: 08/20/06 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common	175.00	SKS	10.6500	1863.75	т
Gel	3.00	SKS	16.6500	49.95	т
Chloride	5.00	SKS	46.6000	233.00	T
Handling	183.00	SKS	1.9000	347.70	Ē
Mileage	30.00	MILE	14.6400	439.20	E
183 sks @.08 per	r sk per mi			433.20	15
Surface	1.00	JOB	815.0000	815.00	E
Extra Footage	39.00	PER	0.6500	25.35	E
Mileage pmp trk	30.00	MILE	5.0000	150.00	E
Wood Plug	1.00	EACH	60.0000	60.00	T

AFE # Branson Trust #1-34 1-034
ACCT # 135/60

APPROVED BY BRD 8/22/06

372459

RECEIVED KANSAS CORPORATION COMMISSION

NOV 0 9 2006

CONSERVATION DIVISION WICHITA, KS

ALLIEU	CEMENTING CO.	, INC.	28
24	 -	,	

ALLIED CEME	NTING	CO., I	NC.	23793
REMIT TO P.O. BOX 31	072015	SER	VICE POINT:	1 Bond
DATE 7-20-04 SEC. TWP. RANGE CONF.	DENIM	ON LOGATION	JOB START	JOB FINISH
Branson L	4113 pm	9:45 pm	COUNTY	<i>n 12:30 /</i> STATE
LEASE TRUST WELL# /- 32/ LOCATION BUSH	for Sco	IW	Rice	155
OLD OR VEW (Circle one)				
CONTRACTOR Patromack Dala	OWNED <	- 10		<i>a</i> .
TYPE OF JOB Justice Pine	OWNER	amuel Ga	ey fr. 8	Cas.
HOLE SIZE 12/4, T.D. 34/5'	CEMENT			
CASING SIZE 85/8 DEPTH 339'	AMOUNT OF	RDERED <u>175.</u>	St Comme	en 39,00
TUBING SIZE DEPTH	4270gel	**		
DRILL PIPE DEPTH				
TOOL DEPTH PRES. MAX MINIMUM	. COMMON	186 . 1	- 10 1-	101-76
PRES. MAX MINIMUM MEAS. LINE SHOE JOINT	COMMON POZMIX	17524		1863,7S
CEMENT LEFT IN CSG. appear 50 per Herin	· -	324	_@	1100
PERFS.	CHLORIDE	511	_@_ <i> 6.bS</i> _@_ 46.bO	233.00
DISPLACEMENT 19801	ASC _		_@ 21610 _ @	_65520
EQUIPMENT				CEIVED
-			KANSAS CORPO	RATION COMMISSION
PUMP TRUCK CEMENTER Sack			@	0 9 2006
# 181 HELPER Steve			_ @	
BULK TRUCK			_ @ _CONSERVA	TION DIVISION
# 342 DRIVER Spandon			_ @ WiCi @	IITA, KS
BULK TRUCK			- [@]	
# DRIVER	HANDLING	183 AL	@ 190	347.70
	MILEAGE	183A40	8 30	439,20
REMARKS:		, -		29.33.6
Bur & its of used 8 5 8 csg - coment with	4		101112	
175 sy of cement. Displace plug with	~C	SERVI	CE	
19 BBls of fresh water - Coment Did				
Circ - Plug down@ 12:30 Am	DEPTH OF JO			
	PUMP TRUCK			B15.00
	EXTRA FOOT	'AGE 39 '	_@ <i></i>	25.35
2 hande	MILEAGE	30	@ S. <i>0</i> 0	_1SD.00
	MANIFOLD _			
CHARGE TO: Some OC - 10 of A.				
CHARGE TO: Samuel Gory Se, of ass.			mom. r	990,35
TREET			TOTAL	_ 190,55
CITYSTATEZIP				
	I	PLUG & FLOAT	EQUIPMENT	Γ
	1-85/8	Wood	@ 60.00	60.00
			@	
To Allied Cementing Co., Inc.			. @	
You are hereby requested to rent cementing equipment	<u>``</u>		.@	
and furnish cementer and helper to assist owner or			.@	
contractor to do work as is listed. The above work was				1-
lone to satisfaction and supervision of owner agent or			TOTAL	6000
contractor. I have read & understand the "TERMS AND	TAX			
CONDITIONS" listed on the reverse side.				
	TOTAL CHARG	GE		
	DISCOUNT		IF PAID	IN 30 DAVS
				AT JU DAID
IGNATURE Laspon			\	
IGNATURE (large Lagron		PRINTE	D NAME \	
·		1 1/11/17/17	~ 1.12.11ATE /	

Allied Cementing Co., Inc

P.O. Box 31

Russell, KS 67665

KCC NOV 0 7 2003 CONFIDENTIAN Invoice Number: 103685

Invoice Date: 07/31/06

157041

Sold Samuel Gary, Jr. & Assoc.
To: % Larson Engineering, Inc.

562 W. Highway #4

Olmitz, KS 67561-8561

RECEIVED KANSAS CORPORATION COMMISSION

AUG 22 2005

SAMERTIL GURY UR. & ASSOCIATIES, 1990. NOV 0 9 2006

CONSERVATION DIVISION WIGHTA, KS

Cust I.D....: Gary

P.O. Number..: BransonTR 1-34

P.O. Date...: 07/31/06

Due Date.: 08/30/06 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common	117.00	SKS	10.6500	1246.05	Т
Pozmix	78.00	SKS	5.8000	452.40	${f T}$
Gel	10.00	SKS	16.6500	166.50	Т
FloSeal	49.00	LBS	2.0000	98.00	${f T}$
Handling	207.00	SKS	1.9000	393.30	T
Mielage	30.00	MILE	18.6300	558.90	Т
207 sks @.09 pe	er sk per mi				
Rotary Plug	1.00	JOB	955.0000	955.00	T
Mileage pmp trk	30.00	MILE	6.0000	180.00	T

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of \$ \(\frac{405.0}{2}\) ONLY if paid within 30 days from Invoice Date

Subtotal:
Tax....:
Payments:
Total...:

255.16 0.00 1305.31

4050.15

3900.30

ACCT # 135/60

APPROVED BY BRAN 8/22/06

ALLIED OLIVIL	24212
REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT:
DATE 7-30-06 SEC. TWP. RANGE	CALLED OUT ON LOCATION JOB START JOB FINISH
LEASE WELL # 1-34 LOCATION 56 3 R	STATE STATE
OLD OR NEW (Gircle one)	anners ice 11 st. 73 bees
OLD ORGILATO (Greec one)	NOV 0 7 2006
CONTRACTOR Patramed # 2	OWNER Se CONSTRUCTION OF THE CONTROL
TYPE OF JOB	CONFIDENTIAL
HOLE SIZE 2787	CEMENT
CASING SIZE DEPTH	AMOUNT ORDERED 195 2 62 MS
TUBING SIZE DEPTH	14 + flowed /sh
DRILL PIPE H'A" DEPTH 3262'	
TOOL DEPTH	
PRES. MAX MINIMUM	COMMON
MEAS. LINE SHOE JOINT	POZMIX 78 AU @ SED 452,4
CEMENT LEFT IN CSG.	GEL 10 Act @ 1665 1665
PERFS.	CHLORIDE@
DISPLACEMENT	ASC@
EQUIPMENT	FLO SEAL 49 # @ 2.00 98.00
PUMP TRUCK CEMENTER 1	KANSAS CORPORATION COMMISSION
# 120 HELPER Rich H	
BULK TRUCK	
#37] DRIVER Brondon R BULK TRUCK	CONSERVATION DIVISION @
# DRIVER	
	HANDLING <u>20184</u> @ <u>1,90 393.38</u> MILEAGE <u>20784 09 30</u> 558.97
REMARKS:	
	TOTAL _ <i>291</i> S. <i>E</i>
Mired - 50 pl @ 3262'	
35 N @ 1250'	SERVICE
35 2 900'	
35 2 2 390'	DEPTH OF JOB 3262 '
25 Mar 2 60'	PUMP TRUCK CHARGE 955.00
- She has Rollade	EXTRA FOOTAGE@
	MILEAGE30@_6.00 _180.00
- New York	MANIFOLD @
< 0 ·	
CHARGE TO: Samuel Hong To & Associate	
STREET	TOTAL //35.
CITYSTATEZIP	PLUG & FLOAT EQUIPMENT
	@
T	
To Allied Cementing Co., Inc.	@
You are hereby requested to rent cementing equipment	
and furnish cementer and helper to assist owner or	
contractor to do work as is listed. The above work was	
done to satisfaction and supervision of owner agent or	TOTAL
contractor. I have read & understand the "TERMS AND	The Art
CONDITIONS" listed on the reverse side.	TAX
	TOTAL CHARGE

SIGNATURE X JIM MICKLE
PRINTED NAME

- IF PAID IN 30 DAYS

1670 Broadway, Suite 3300, Denver, CO 80202 (303) 831-4673

11-7-08

November 7, 2006

Mr. Dave Williams
Kansas Corporation Commission
130 South Market, Room – 2078
Wichita, KS 67202

RECEIVED KANSAS CORPORATION COMMISSION

NOV 0 9 2006

CONSERVATION DIVISION WICHITA, KS

Re: Branson Trust 1-34 Rice County, Kansas API# 15-159-22489-0000

Dear Dave,

Attached please find the ACO-1, Well History Description of Well and Lease, the CP-4, Well Plugging Record, along with Geologist Report, DST's, Electric Logs, and all cementing tickets for the subject Well.

We hereby request that this ACO-1, and all data included, along with the drill cuttings sent to the Kansas Geological Survey, be held **CONFIDENTIAL**.

If there are any questions, or if you need any additional information, please contact me at Samuel Gary Jr. & Associates, Inc. at the telephone number shown on the letterhead.

Sincerely,

SAMUEL GARY JR. & ASSOCIATES, INC.

Thomas G. Fertal Sr. Geologist

Enclosures